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Note - Attempt all the five questions. One question from each Unit is compulsory.
1. gfe & Udgarea 3@r3ft & e [ea a)- (3as-1)

4x-5y+30=0

20x-9y-107=0

A & P & Y RX P gdgordEa @r § 3R w49

If two lines of regression are given by following equation:

4x-5y+30=0 20x-9y-107=0 which of these is the lines of regression of X on Y and why?
(37a)

fAefaf@a gt #Axawr v Fg-gdvg quie g e

Find the coefficient of correlation between X and Y from the following figure :

X 100 10 117 131 04 17 81
y 05 09 2.0 2.3 15 31 52

2. fergolt fIfER- (31$-2)
Write short notes:

(37) TaIRT &a AT (Stratified Random Sampling)

(1) SUHRRT hT I (Consumer surplus)

(37am)
gfe AT Bl P=35-2x-x>& AT AP (x)2 & dT SUNHT I Iad FAT {en?

If the demand function is P=35-2x-x2 and the demand x is 2, what will be the consumer's surplus)

3. fgUe, wareiaa 3R UHIHAS deal &l 3R adisd| (3Prs-3)
Differentiate between Binomial, Poisson and Normal distributions.

(37dr)
SURIh AP0 I haR AT T &l HIfAT-

Solve the above equations by Cremer's rules:
5x+3y+10z = 100

2x+y+4z=40

X+5y+7z=120


http://www.rdvvonline.com/

4. Tk heTT F 100 faamdt & 39 @25 Fsfpar 375 dsd €138 2 3R & a7 v Ng
40 3AH & IRGUTSH &1 U IMR@0t T 3R TSh & T dr T wRddr 82 (SHrs-4)

A class consistas of 100 students 25 of them are girls and 75 boys, 20 of them are rich and remaining
poor, 40 of them are fair complexioned. What is the probability of selection a fair complexioned rich
girl? http://www.rdvvonline.com

(37ar)

(37) I yAT F;T 2

(a) What is Bey's theorem?

(@) MIa-fAed faduor @ @fee ow |
(b) Write shorten notes on Input-Output analysis.

5.8 ¥ AP AU q AR AT & AT & S & ra Al &1 gaior fopan srar
©? (FTE-5)

Which technique is used to text the equality of means of more than two populations?

(37an)

ITHSIA-3cPEAT I HB-TIN AT FAT 2 3T AT B SUANT I THAIT Did AT Ar@eiarar
ol 3T &2

What is the Chi-Square test of goodness of fit? What precautions are necessary in using this test?



